T 31 58 ZEETAGREREFZE ¥ 31 & 5 B 3 B £ B
=ipe HPhEYYHN—I1B TF8l 1 RFRE A+B-:C JOvD
£5K™ 9 I OOBMREAS—FTr V7
BREE BiBAE BEXRE REF #RE Wl MK
ESEEe Ve ESEEC Ve
ESUY. ) F—/\ AN B85 B8 By F—A REF #ar |JD) U@ Tkisc t¥es mumss
@ 1000 FIIE X | 7 | vs |66 O BUER| MWL |ex= 28 Bis wew 28 ous
@ 1020 BEM X |14 vs | 19| O BAIEE|MAK|=s»= = miIx sx- R ~o=
@ 1040 BAZ X | 7 |vs|B50| O 1RE |1RE|mw=m= Sisk s o sex wen
@ 11:00 BWZB O |31 | vs |14]| X B | |28 Bits BAZ ssx Bre 8A=
@ 11:20 %ﬁl% X 5 \S) 28 O %ﬂ%j{ H}?K B RIIE SUHK R AT susk
® 1140 KRS O |28 vs |24 | X BLES |BE |=ex wEM sors R wEx s
@ 12:00 £ O |26 vs [ 10| X FINIEE| MW |ons BAZ B8 sex ox- @=
1220 EH{EKX X O|vs |32 O HEM |fK|or=e susx = ows mess &
© 1240 BB O |22 vs |21 | X BRI | 1R |u=x soix SEKX wios seix sk
HEE || RIIE |, HLERE |, ® B5m| Bxa |IERT] L
1 ©) @
T \ % X 2 |-75| 3
' B 7 = #fm 10 R
2 Y0 O
o 6 |76|1
HFER . s 66 BE 31 5 ©
3 N @ O @ >< a | -1 2
B#Bm 26 = Ba 14 R
HER |, ®EK 5 ERALE 6 BBX Bom| Brm|IBh| L
) " 2 x O al27]1
#Ba 14 R #Bm 32 R
5
BlEIE ¢ O ° X 4 |-18(1
#aR 19 w BfR 5 =
6:457: x |70 41-9(1
mE 0 = Bm 28 =m
HelE | BX= 6 RrE 8 BiS #om| s |IBR] EH
7 ® ©)
. X X 2 |-44] 3
— B 7 = Br 21 R
8
- v 0 © 0 647[1|©
= B 50 w BR 28 W
9 AEka ’ O o ox 41312
"E 22 = Bm 24 =
BHa
O 5 3
X S|IEDT | 2
A =i 1
TEH FiE




